COS 528

Problem Set No. 3



Due: Wed, Oct 15th
Fall 2003

1. Give the details of an efficient algorithm for “c-reduction” (complement-reduction) of a PQ-tree. Given a PQ-tree T and a subset S of the leaves of T, complement reduction produces the tree whose allowed leaf permutations are those allowed by T that in addition arrange all leaves not in S consecutively. Given an initial tree with 
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leaves, all children of a P-node root, and a sequence of sets 
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 the total running time of your algorithm to reduce the tree successively with respect to
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plus a constant times the total size of the sets. In what ways, if any, is efficient c-reduction easier than efficient reduction? Can you simplify the data structure over the one used in reduction?
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